>
A 2 0 & At =
& & LBHS | S 2 aA
T kgl
B HN 2O (UNTTHT/AUBE)
2 el iEH)
= _ — d =
CHB - E(BH) - MM - B 0l &t o il Bl RE2
2 AA 4,100,916 4,110,474 A 9,558
= 21,363
< 28,546
Al 4,051,007
TN MEXN 2 (Ut @A /LptEA) 1,466,556 1,562,397 A 95,841
1,466,556 1,562,397 295,841
2 1,393,886 1,562,397 A 168,511
22 HH| 1,232,126 1,474,697 A 242,571
01 At 22l I 1,164,960 1,164,360 600
OFUHE =8 17,000& = 1209 * 128 24,480
OAlEg2t 500,000& * 603l 30,000
OANE JI5 22| 27,280
—&0a3a ¢ 100,000& * 404 4,000
— HOVEIOI = (6012]) ¢ 25,0003 = 80H 2,000
—0VWD ¥ CO 7 ¢ 2,500& = 4004 1,000
— AL& Qg2 850,000& * 12& 10,200
—Z28AE UXNEsY d&
3,000& = 128 * 108 » 288 10,080
OZ22& X 7+ 11,800
— XAXHF2A 115 6,000&8 = 1508 » 12& 10,800
— JIEt 1,000,000 * 13| 1,000
OZ= AIZEEX &28 140,000,000& = 14 140,000
OF2 NEsE 21a(Tv,2t)
350,000,000& * 14! 350,000
OFANEEE DWW, 88X )
300,000,000& * 14! 300,000
O=2 Ads:e ¢H a2 W
10,000,000& * 2 20,000
Og= 882 J&(¢s8) MA &5
50,000,000& * 14l 50,000
OYFANE QEHUAS SMRA BEX M
50,000,000& * 14l 50,000
OJIEsd ME(MR) 100,000,000& * 14 100,000
OUEZ Al €Al OIOIX &1
60,000,000& = 14 60,000
ORI/ A 49
70,0008 = 4% « 53| 1,400
232gH4| 67,166 65,337 1,829
OAJEOtAH AIEZ
121,000 = 25JH0H X » 12& 36,300
ONLE(Z&HEHE &Hl) SXAH 400,0008 * 63 2,400
Oz E22LIH RALE=
450,000& = 12& 5,400
OANEEE YSANLAH FJHAES
60,000& = 12CH = 12& 8,640

_1_




SN BREMA
MY ZQAM MAN SR (YUDDHE/UBHE)
chelr NEER CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OYsZdl |Xb 11,897
— S&J17I 140,000& * 204 280
— JtOlct 50,0002 * 5CH 250
LSANE S 148,000& * 604 888
—HICI23t0 ek (4)
25,240,000& * 3/100 = 2CH 1,515
— HICI23t0 2k ()
130,000,000& = 3/100 * 2CH 7,800
— CIXIE3tnet  2,990,000& * 3/100 * 2CH 180
— 298 Sl 5,800,000& = 3/100 174
—HIOQEZME 27,000,000& = 3/100 810
OAN&ZEH EBE8& 1,000,000& * 14 1,000
OANEEE LYSAAE FXE2H]
50,933,350& = 3/100 1,529
203 YR =2l 10,000 8,000 2,000
03 Al =AY R =& 10,000 8,000 2,000
OFQANH 28 gLzl
10,000,000& * 14 10,000
301 et a3z 7,560 0 7,560
09 &AL HIBA S 7,560 0 7,560
OEEUA S EE2ESH
0,000& * 6F * 4 » 33 6,480
OS2I F4 Ofyl
90,000& = 4% « 33 1,080
307 21201 A 97,200 77,200 20,000
02 HAFHAANHEEX 77,200 57,200 20,000
OYZFILEALS= X &
00,000,000 = 14l = 50/100 50,000
Ost=XsEHY FAXE AY 22X 7,200
—d=2Tsrs SHUE XNFuA
3,000,000& = 141 = 80/100 2,400
—&EAE UFAYUNE At
2,000,000& = 141 = 80/100 1,600
—HHUE=0ISME 2SS ALY
2,000,000& = 141 = 80/100 1,600
—DDM JEEHE AE U DFAY
2,000,000& = 141 = 80/100 1,600
OFZoEe S =3 HENH(BEE8 FY)
20,000,000& = 14 20,000
03 QIZtHNHE2HHEX 20,000 20,000 0
Ost=22EHY =AIXSE 296(Ex2 &
H) 20,000,000& = 14 20,000
405 XtatE SHI 47,000 2,500 44,500
01 HatH ESFH S 47,000 2,500 44,500




SN B
M FQAM AN EP(UUDDHT/AUHET)
chelr NEER CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAMNTEE 2023 HEBEIX 7
14,000,000& * 14 14,000
OMFG LY Bl 7Y
8,000,000& = 14 8,000
OZY R4 32AE AMAE FHH P
25,000,000& * 14 25,000
7O0ICIOE 288 ANEES 72,670 0 72,670
201 Let249] 63,650 0 63,650
01 At 22l 63,650 0 63,650
OSNS E8 28 = g L M=
35,000,000& * 14 35,000
OSNS DIt 2102 X
50,0003 = 224 = 208 ~ 123 24,000
OSNS DIt 28 &0 H&
60,0003 = 2004 1,200
OJIXAE & F& M= 20,000& * 2004 400
OSNS 28l= Z22H 3,050
— 28RS AH 1,000& = 2,0000H 2,000
— MM =Y 70,000& * 5% « 33 1,050
301 et a3z 9,020 0 9,020
09 &AL HIB &S 4,020 0 4,020
OSNS AIEEE &gt 2tEs
10,000& = 209 « 12& 2,400
OSNS JIHE R3S
90,000 = 1 * 13 * 18Y 1,620
MIIEE43 5,000 0 5,000
ONSZEl= Z2& Al&=  5,000,000& * 14 5,000
HESIA (LS TEHE /YA ) 2,175,791 1,859, 358 316,433
= 21,363
< 28,546
Al 2,125,882
HYE ZEs =& 1,827,707 1,477,768 349,939
= 12,219
Al 1,815,488
HYMA 2ol KA 1,008,282 931,182 77,100
201 Let24d] 869,988 816,555 53,433
01 At 22l 43,500 32,000 11,500
OdtoldA olg=Z=2 08 44 2
30,000,000& * 1A 30,000
OHFZFEANALH SR It &=
2,000,000& = 14 2,000
OXAEH X E 200,000& = 50CH 10,000
O AZHl 2=4&Hl 30,000 * 50CH 1,500
02 232gHl 826,488 784,555 41,933




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O2HY HE3H AER 231,000
— 2 (2L 5M) 1,500,000& = 12& 18,000
—ANEEANZ (AR L:2M)
1,100,000& * 12&8 13,200
—AK)|2, Mg, SHS(MSPPY)
450,000& = 3734 * 128 199,800
OFMY AEE 5,400
~ D3P TRASL AHUAMEE
30,0008 = 13/& = 128 360
— BT AR AFHUWASES
30,0008 = 13/& = 128 360
—OIXS BAW OFZH QEUAMER
30,000 = 13/& = 128 360
—AFA EEHABREMNH QHUAMER
30,000 = 13/& = 128 360
— 2N S2uUsS AHUMER
30,000 = 13/& = 128 360
— AN WEA AEUANEE
30,0003 = 12/& = 128 * 2)HA 720
—dHE UL QHUAER
30,000 = 13/&d = 128 360
— SMA QA AHUAEER
30,000 = 13/& = 128 360
— 240 2ZotHA OHYUAMER
30,0003 = 13/& = 128 * 204 720
—NEEND S AHUABE
30,0008 = 13/& = 128 360
—2=0 E3dotRA AHIALAER
30,0008 = 12/& = 128 360
—OtXIs MDIHEE AUHYEAIER
30,0008 = 132/& = 128 360
— EF0I3E Uil AHYAERS
30,0008 = 12/& = 128 360
OXNGSHBHH(FUHBOIEANE) sIdAMES
100,000& * 12&8  17)HA 20,400
OdgZIEZLel0l SMS AE = (UMS)
25% * 40,0004 = 12& 12,000
OAOIHHAIRL SMS 8&=2
253 = 100,000 * 43| 10,000
O2Helsa 2 (LAN) MEX
500,000& * 54 2,500
OFAA UPS =& X W™ 15,000,000 » 14 15,000
OddE AME=Z 200,000& = 12& 2,400
OANEEHISXH (AAE SERIES) 527,788
—GtER/A N |24 250,038
- 2-Liet (g e zel )AL AE
164,090,900& * 7/100 * 1.1 12,635




2N
X ZH -
L= B
el

CEB Y (3H) - NEAY - B2 ol &k o8 ﬁlf& HD=2
s T2 A AAE
191,800,000& = 7/100 = 1.1 14,769
cEXZ2, SAHEEE SEAH
188,159,000& = 7/100 = 1.1 14,489
cEX2e] BEAAE(KLIS) APAH
109,273,000 = 7/100 * 1.1 8,415
- O A A B 5,500,000 = 7/100 = 1.1 424
- EHOXNS S8 &MY
210,087,000 * 7/100 = 1.1 16,177
- EHOIXN SYAIAE 5S4
43,182,000 * 7/100 = 1.1 3,326
c QAR SIELIAT BE2REH]
111,682,000 = 7/100 = 1.1 8,600
c EHOIX 202t DNS ASAIAE <>
22,500,000 * 7/100 * 1.1 1,733
- SHOIX 202t DNS S AIAE <2>
24,000,000& * 7/100 = 10/12 * 1.1 1,540
- AIGIE A AE
16,400,000€¢ = 7/100 = 1.1 1,263
- SHE ™MD 2L 0] Al AE(UMS)
28,300,000& = 7/100 = 1.1 2,180
- JATIE 22AX SR AAE(DR)
205,930,000 * 7/100 = 1.1 15,857
QRO SE MAA AL
7,232,700 % 7/100 * 1.1 4,407
CHENL E8 AE2X
250,000,000 * 7/100 = 1.1 19,250
CHAMAME MAXZ S A A
274,275,000 « 7/100 * 1.1 21,120
SguANAY B4
132,660,000& = 7/100 = 1.1 10,215
2AXNSE 0/=3 A EH|
136,000,000& = 7/100 = 1.1 10,472
cHWE<R3 &4
671,630,000 * 7/100 = 1.1 51,716
CNYBERLY FHSE
30,250,920 % 7/100 = 1.1 2,330
HEAMEY HEEH|(L4)
70,410,000& = 7/100 = 1.1 5,422
PHE MBS EXIUPS(50K)
33,540,000 = 7/100 = 1.1 2,583
SHM MAZ2ZEXIUPS(75K)
39,727,270& * 7/100 = 10/12 * 1.1 2,550
A A HEIIA IS ASHD]
17,348,000 = 7/100 = 1.1 1,336
CHMA BREE)
56,665,450 * 7/100 * 1.1 4,364
- MAHA CCTV AIAE
18,273,000 = 7/100 = 1.1 1,408




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MEDZAC AL FA
28,181,000& = 7/100 = 1.1 2,170
- SEMH HHAIAEH
120,600,000& * 7/100 * 1.1 9,287
—AZEQON KX 62,945
- 2-Let(gR2e)AlAE
205,454,540 * 10/100 = 1.1 22,600
HEXNE 2| 0IAIAE(UMS)
46,500,000% * 10/100 * 1.1 5,115
AN T2
12,000,000 = 10/100 * 1.1 1,320
- SHIOI Xl DBMS
8,727,000& = 10/100 * 1.1 960
-HEXZN 220
130,464,810& * 8/100 * 1.1 11,481
- 8XZTH DBMS
37,750,000& = 10/100 * 1.1 4,153
- EX 22| AIAE DBMS
37,750,000& = 10/100 * 1.1 4,153
-UESIZ 1P 22l S/W
26,655,000% * 10/100 * 1.1 2,933
- SEAMAE S/W
29,000,000% = 10/100 * 1.1 3,190
SRS PPN
16,000,000 = 10/100 * 1.1 1,760
Ngoa SSHEZAAH
2,800,000& = 1.1 3,080
- SHOIX sS&4AMHIA AIAE
20,000,000% = 10/100 * 1.1 2,200
— 2otEHl |RA2 4| 210,905
-UESRT HOIHA AT EAIAE
48,000,000& = 10/100 * 1.1 5,280
Y gt <>
35,500,000& * 10/100 * 9/12 * 1.1 2,929
Y g <2
35,091,000& = 10/100 = 1.1 3,861
HEFBY Lt
103,507,000& * 10/100 * 1.1 11,386
KW E 25t
27,000,000& = 10/100 * 1.1 2,970
- QIR e E QWX AIAYIPS
35,775,000& * 10/100 » 1.1 3,936
-UE/RZI E2 MO0 AIAENAC
99,300,000& = 10/100 * 1.1 10,923
- HIOIEHI Ol A EotAIAE
101,045,000& * 10/100 * 1.1 11,115
BRI (USB) 2 HAIA &
55,800,000& * 10/100 = 1.1 6,138




2N

RPN
M YESAY(LNBTHT/LNHT)
Sl HE 2 =2 CERED
SA-3H-S(3AH) - MRAS - BES Off &F o4 %Ei Hns2
THAI, AFot 2ol Al 8 (PCE oF)
46,400,000 * 10/100 * 1.1 5,104
CEYATERO ALY
39,000,000%0 * 10/100 * 1.1 4,290
BN ALY
15,700,0002! * 10/100 * 1.1 1,727
(BHOT 2 SHAY 2o
27,000,000 * 10/100 * 1.1 2,970
CHUFYRY FUYNAAY
72,994,0002! * 10/100 * 1.1 8,030
COIRY EHYUREAIAE
33,000,00020 * 10/100 * 1.1 3,630
CHEREUNAAY
70,548,000 * 10/100 * 1.1 7,761
SHEOAAE
89,500,0002! * 10/100 * 1.1 9,845
CSEROIBHAIAE (H/W)
146,973,0008 * 7/100 * 1.1 11,317
 SEBOIBHAIAE (S/W)
89,227,000 * 8/100 * 1.1 7,852
- S80I 2 R Al A & (0BUS)
50,000,0002! * 10/100 * 1.1 5,500
- AHOIH B BHCHS Al A &
234,250,000 * 10/100 * 1.1 25,768
£ 9|2 DDoS B2 XEFAIAH
49,500,000 * 10/100 * 1.1 5,445
LS 000S B2 XEFAIAH
48,000,000 * 10/100 * 1.1 5,280
COEY KPR (AOIE) TEAAE
42,909,002 * 10/100 * 1.1 4,720
HOIHE 25 AAH
68,918, 18221 * 10/100 * 1.1 7,562
CEHOIX BHAE 24 AAH
52,600,7002! * 8/100 * 1.1 4,629
- ZHOIX GIOIEMHOIA SSEAIAH
36,000,000 * 8/100 * 1.1 3,168
QHILEBOIX I ECE HOAAE
24,000,000 * 8/100 * 1.1 2,112
CEBOIX BASX L HEAAH
32,227,000 * 8/100 * 1.1 2,836
CHENPY ASHAH (2 VPN)
63,910,0002 * 8/100 * 7/12 * 1.1 3,281
HEFBY LSHFH(SHE VPN)
71,500,000%0 * 7/100 * 1.1 5,506
SOS YN (BH)AAY
38,800,0002 * 8/100 * 9/12 * 1.1 2,561
CRHUEST BOAAH 25
57,272,7202 * 8/100 * 8/12 * 1.1 3,360




2N
X ZH -
L= B

el

SEAA
BOAY (LS BIYT /L)
N ®HE5 =X
(=) o L —

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
- EHOIX &AMHIA SUEHY AlAH
44,330,000& » 8/100 » 8/12 » 1.1 2,601
- SHOIX HAEERSSISAIAE
26,281,810& * 13/100 » 1.1 3,759
-2-lct 0B EtERH
21,000,000& * 10/100 * 9/12 = 1.1 1,733
—MAAH gesgZz2Od 4R & I201H
30,000& = 130CH 3,900
308 AHXIEHHSOIA 138,294 0 138,294
10 B2 S0t B & XA 138,294 0 138,294
O=2-LictAl2a 8 sXl&2ldl
16,063,000& * 14 16,063
OXNXIEH SSIIg MeEH | 2el
1,174,695,199& * 7.4592/100 87,623
OXNLMHE 2| AL (e-2X) RRI22
22,680,000& * 14 22,680
OAZF Mol=RAIAE SX2el
4,928,000& = 14 4,928
ONYHAFZSHEANAE MHIAOAR 2F
7,000,000& = 14 7,000
MEH B2 748,550 478,900 269,650
201 Let24dH] 132,400 52,900 79,500
01 At 22/l 132,400 52,900 79,500
OYRELZEYNH 7L 132,400
— &2 66,000& » 1 * 450user 29,700
—MS 2Il A& 220,000& = 19& = 300user 66,000
—TEY 600,000& » 1& * 30user 18,000
—LEJMNE 500,000& = 19& x 20user 10,000
—QEMNE AEAIEE 14
300,000& * 29user 8,700
403 UHXSHHSA=0l& 32,000 0 32,000
02 SJ1 2SOl CHSHAt 2 X CH & AF I 32,000 0 32,000
OANZFRBSIIBANAE S SEY WH(AMH)
16,000,000 * 24! 32,000
405 THebH S| 584,150 396,000 188, 150
01 AL =2 S FH S| 584,150 396,000 188, 150
OHFUHEL M SIS AIAE 2=
100,000,000& * 14 100,000
O=J13284 4AAX WA
28,750,000& = 44! 115,000
O&Lta 22l & CIls CCTV AlAE 2=
50,000,000& = 14 50,000
OSHsE =5 #N¥ME 2=s&GI(VPN) wXl
5,500,000& = 194 104,500
OYRE HEH 7 166,000




2N
X ZH -
L= B

el

(B AU) - HSEAY - BAS ofl &k o San HDE2
1,000,000 = 100CH 100,000
450,000& * 100CH 45,000
2,000,000 = 3CH 6,000
aH ) 500,000& = 30CH 15,000
A daEH 7Y 15,500
1,000,000& = 500 = 20 & 10,000
450,000 = 5CH * 200 2 4,500
500,000 = 1CH = 200 A 1,000
OFUHB0IE2AAE HAEH 7L 33,150
1,000,000 = 100 = 17002 17,000
450,000 = 1CH ~ 1702 7,650
500,000& = 1CH * 170 8,500
F 23,010 18,120 4,890
21,010 16, 120 4,890
21,010 16, 120 4,890
SXAQC Ha 4,800
2 E 50,000& * 60YH 3,000
JleXd & 25
250,000 * 2H * 13| 500
]l 100,000& * 8AlZ2t 800
O 250,000 * 20 A 500
=1
10,000& = 233 = 15D] 3,450
= ZAZ
50,000& = 12A12F = 15D] 9,000
& ARESHI
5,0008 » 23 = 12&€ 1,380
FARS2 £=4AH| 2,380
=l
100,000& * 100 = 23] = 50/100 100
EY 200,000& * 23 * 10H 400
=2l
100,000& = 23CH = 33 = 20/100 1,380
E #¢al 500,000& = 1CH 500
2,000 2,000 0
2,000 2,000 0
HEss" 2303 o423
2,000,000 = 1A 2,000
AR (R) 47,865 49,566 A1,701
= 12,219
Al 35,646
47,865 49,566 A 1,701
= 12,219
Al 35,646




SN BREMA
M JESANG (L SSHEY /YY)
el BN BB £ CER-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 At 2t 2|l 47,865 49,566 A1,701
odxz 47,865
— M2 SSJIgt ==&ZHl M £ 220
ZStALSE 30,150,440& * 14 30,151
= 8,194
Al 21,957
—ANZFMA=SAALE ASAY
17,714,000& = 14 17,714
= 4,025
Al 13,689
NAEES A 348,084 381,590 A 33,506
2 9,144
< 28,546
Al 310,394
SHOIX 29 183,832 230,894 ANAT,062
201 LBt2d| 63,832 22,894 40,938
01 AtS 22l H| 22,000 12,000 10,000
OActiveX THH &#HZZ )&
22,000,000& * 14! 22,000
02 =224l 41,832 10,894 30,938
OZMHOIX 2SMHHA AIBZ
60,000& = 12& 720
OZMHOIXl JIs =t 550,000& = 103l 5,500
OAl EHOIX X E2=(S/W)
18,000,000 * 10/100 * 1.1 12,980
Oty dMUA SHOIX RAL
118,590,670& = 10/100 = 1.1 * 1/2 6,523
OQHYWAE SHOIX |FAE=
118,590,670& = 10/100 = 1.1 * 1/2 6,523
OQEHY! Z=oel J2tAA & Ity 4,586
—SE&0e 30,000& = 81A 2,430
— & 2&me 66,000 = 262 1,716
—Z0e S5l 220,000& * 2A 440
Od ¥24d SZos0t3 ad
,000,000& * 14 5,000
405 TtHabF S| 120,000 123,000 23,000
01 AL EFH S 120,000 123,000 A 3,000
OFEAAH E2IIE 2l SHAAE
65,000,000& * 14l 65,000
OFEAAH MARE S22l AAE
55,000,000& * 14l 55,000
AMIEES AHE F2& 21,160 28,884 ANT, 724
201 L2l 20,350 17,695 2,655
01 At 22l 20,350 17,695 2,655
OASIZEEs W=EWM 10,0008 » 233 * 87| 1,840




AR
PSS

(=]
H: FESAMY (LSS /YY)
el XM EE =X (S &2)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
OAMEIEEs s 2A=E
50,000& = 30AI2t = 87| 12,000
OFLUFZB0EANE ARESHI
5,000& * 17002 = 128 1,020
OFQEE0EANE A2 =4H| 5,490
— T2y =2 100,000& * 17CH = 50/100 850
—ZTEH EU 200,000& = 13 = 1704 3,400
—&dFH =d 100,000& * 62CH * 20/100 1,240
301 et A3z 810 1,280 NAT0
09 AL HIZE A= 810 1,280 A470
Ok B2 =253t &ote =M 4 Ol
90,0003 = 9% = 1& 810
L2308 T2 22 X(=) 33,432 33,432 0
= 9,144
< 5,486
Al 18,802
307 glztol & 33,432 33,432 0
= 9,144
< 5,486
Al 18,802
02 UAHFLYAEEE 33,432 33,432 0
O&FEs0ls Z2Od22elX 22 33,432
-y 15,240,000& * 2% * 90/100 27,432
= 9,144
< 5,486
Al 12,802
—40f 282 & &A= 6,000,000& * 14 6,000
HFE0SAE XN (%) 70,740 63,480 7,260
= 21,060
Al 49,680
101 1Al 70,200 63,480 6,720
= 21,060
Al 49,140
04 0IZtHZ22 S+ 70,200 63,480 6,720
OXNSEE3 2 A B XI ALY 70,200
— =Ry 48,240 * 6 * 171 49,495
< 21,060
Al 28,435
— =g 48,240% * 6F * 32 9,263
—dl=rsFtsd 48,2403 * 6% * 8Y 2,316
—ws, 2tAH| 3,000& * 6% * 171 3,078
— 401 EEE 6,048,000& = 14l 6,048
301 LerE A3 540 0 540
09 AL HIZ &S 540 0 540




SN BREMA
H: FESAMY (LSS /YY)
@ XNFFEs =8 (cho &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o dio = Bl RE2
0 &t o
OXNSEES AN 9 23tu=x 0l
90,000& = 6% ~ 13 540
dESNES23 28,920 24,900 4,020
201 £B-2dH| 16,300 11,700 4,600
01 At 22l 2,000 2,000 0
OZEsoie E2S(iH,. B2 8) M=
1,000,000& = 141 = 2004 2,000
02 =224l 10,700 9,700 1,000
OZES0IE SHOIX RAE=
35,000,000& * 10/100 » 20HA = 1.1 7,700
OZFEs0tls 32 dH ALEH =4H]| 3,000
—dFH,2LH =2
100,000& * 1141 = 204 A 2,200
—ZeH EYH 200,000& = 23| * 204 800
03 A2 S HI 3,600 0 3,600
OZE0E HAE I
1,000,000& * 200 & 2,000
OZES0IS SH/BM/EAHNEEH S &It
800,000& * 204 1,600
301 LA F 10,620 8,800 1,820
09 SAEHIE &S 10,620 8,800 1,820
OZFEsis 2E9d s &It
90,000& * 5 * 53] * 2044 4,500
OZE&0E A L3tu=F
90,0008 = 7& * 23] » 2044 2,520
O&F=Zs0tS HAE &b (bl
90,0003 = 10 =+ 2& = 204 3,600
405 XtAtE SHI 2,000 2,000 0
01 AL EFH S 2,000 2,000 0
OZE=0tE SHOIX 22& CXEItnet &
= 1,000,000 * 2CH 2,000
F202deds(E) 10,000 0 10,000
< 2,000
Al 8,000
307 21201 A 10,000 0 10,000
< 2,000
Al 8,000
02 QB AAFEX 10,000 0 10,000
OXR&HeN X2 (XM, HAHY S)
5,000,000& * 242 10,000
< 2,000
Al 8,000
SHZe (LS IHY /LBIEHH) 335,965 569, 195 A 233,230
sdlzte] 335,965 569, 195 A 233,230




>
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